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Make Inferences and Draw Conclusions — Questions

Name

Making Inferences

1. What happened to the vase?

Date

2. Why do you think Hudson left?

3. Where do you think Sabrina was planning on going?
How did Sabrina feel? How do you know?

4. What is Senith’s job?
What clues in the text make you think that?

COMPREHENSION
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Name: Date:
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Spelling Lists
List 1 List 2 List 3 List 4 List 5




| 7.Neil decided to train for cross-country. On the first
| day of training he ran 3.2 km. On the second day he
| ran 5.4 km. On the 3rd and 4th day he ran ﬁ

| atotal of 8.9 km. If he ran 22 km in total e
| after five days of training, how far did he
' run on the fifth day?

S T T S ST
- e -

2. There were 93 people on the high-speed train.
23 got off at the first station and 48 got off at the
third station. If there are 5 people left on the train
at the fourth station, how many got off at the
second station?

T R
e e e

9. A shop buys skateboards for $83 and sells
them for $159.95. If they have a sale and sell
them for $20 less, what is the profit on each
skateboard sold?

e
= . — . -




le numbers — odd and even numbers

Looking at who

Circle one answer in each sum:
a Even + even = odd / even
b Even + odd = odd / even
¢ Odd + odd = odd / even

d What did you discover about adding odd and even numbers?

Colour a path from start to finish. You must move through one hexagon to
a touching hexagon and they must add to an even number.

This game was played by children in ancient times.

You don’t need any equipment, just your hands!
Each player declares if they will be either ‘odds’ or ‘evens’.

After the count of 3, at the same time, each player opens one hand and holds out
1 or more fingers.

If the total number of fingers is equal to an odd number, the player who is odds wins.
If the total number of fingers is an even number than the player who is even wins.

Reading and Understanding Whele Numbers
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Looking at whole numbers — odd and even numbers

|

Even numbers can be divided
equally into 2 groups.

Odd numbers cannot.

Colour the even number ol1l213lalsle6l718]lo9
squares orange and the
odd number squares green:

Complete these statements:

a Even numbers have a , , , or in the units place.

b Odd numbers have a , , , or in the units place.

Place any even numbers in the boxes and add:
a b

How should | share an
odd number of lollies?

Place any odd numbers in the boxes and add:

a b

Place even numbers a b c
in the top row of
boxes and odd

numbers in the + + +
bottom rows of
boxes and add:

Reading and Understanding Whole Numbers
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Addition mental strategies — doubles and near doubles

§ Near doubles strategy is when you double a number and adjust.
; See: 5 + 6 See: 7+ 6

b
]
|

Think: double5 + 1 = 11 Think: double7 — 1 = 13

Complete the near double strategy for these. The first one has been done for you.

a 2+3=double2+1=| 5 b 4+5=doubled4+1-=
c 6+7=double6+1-= d 3+4=double3+1=
e 8+9=double8+1= f 7+8=double7+1=

Complete the near double strategy for these. This time you are calculating a near
double that is 1 less.

a 8+ 7= double8-1 = b 6+5= double6-1 =
c 5+4 = double5-1 = d 12+ 11 =double 12 -1 =
e 15+ 14 = double 15-1 = f 16 + 15 =double 16 -1 =

Complete these near double tables based on the double fact in the top row:

al|l1l2+ 12 =24 b | 15 + 15 = 30 c | 16 + 16 = 32
12 + 13 = 15 + 14 = 16 + 19 =
12 + 11 = 15 + 16 = 16 + 12 =
12 + 14 = 15 + 18 = 16 + 17 =

' Who said what? Write the initials after each statement:

7 10 15 9

Sweet Seven (SS) Terrific Ten (TT) Famous Fifteen (FF) Nifty Nine (NN)
a ‘Double me and —4 you get 10/ b ‘Double me and + 2 you get 22.
¢ ‘Double me and—-1youget17/ d ‘Double me and — 3 you get 27/

Addition and Subtracition
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